N = 0l & At & Ml A

20208 = =0la FXREAY SE3H A
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Hu: OMGID Hels MA NEHA 7=
©el: SHE FX2s ZE (ALY SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oS 351,353 317,774 33,579
OHMGID Helst M8 WESEE 2= 154,889 130,790 24,099
SHE FUEs =& (FUHEMY SEIAH) 154,889 130,790 24,099
SEHQ EYHFFEI S 154,889 130,790 24,099
101 @14 dl 3,649 2,836 813
4 D12t ZE2XREES 3,649 2,836 813
O3EF=X& 33y =2
152,020& x2L 1P« 128 3,649
B2 Y| 131,240 107,954 23,286
fzeldl 61,400 46,900 14,500
2 et~ ZH| 3,500
I =l 300,000& x10H 3,000
FUNE 22ECGE A
300,000& =154 4,500
O F=XHE 828 M 50& 100, 0000H 5,000
O F3X s IXNAM HME
80,0003 »30% A 2,400
O ZgHd Ed+ag 200,000& =103l 2,000
O HZR¥ 32|, 458, F212Y 1,000
O F=X3A cthtz 2 30,000& 5004 15,000
O nsaM ZHel g 2 20,0003 *50H 1,000
O nNsSEM W AWML +<
10,0002 x50 4 500
O =Xk NERES 728 £X
30,0002 » 1004 3,000
O F=X3X (01s4)) EXIT 500,000 =204 10,000
O &M £ IHME nEANds aXILEN
10,000& 5004 5,000
SLH(XSH, AIZAH) 5,500
23224 69,840 61,054 8,786
Oz&22= & HA 20,740
BEHE DN SELS(SI18)
1,930& =8, 0000H 15,440
DEHE DN SELS (Y8
300& =10,0000H 3,000
RPN 500,000& *2CH 1,000
HIIEM =8 50,0003 »2H 100
Nsi BE8=2 600,000& *2CH 1,200
OAIE ZHI S X 1,000
fHdEH =X 500,000& *2H 1,000
O Xt 14,000
=R Nl 5,000,000 =2CH 10,000
pE= LR aEeNE:]| 2,000,000% »2CH 4,000
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22X nE
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Hu: OMGID Hels MA NEHA 7=
te: SHIE FURS ZH(FUHEAY SE3IA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFZ X2 WEHZ IMAHE =HAIAE |X
g2 150,000& 123 1,800
OEY=ZX s LdEAAH |X E=
4,300,000& =14 4,300
OLNZE SYHFIUNLSALAE SRS =4
1,400, 000& »8CH 11,200
O0lsg SEFEXNCSANLE SN2
2,800,000 »2CH 5,600
O SAME Z208 AL =4l
250,000& 1200 & 3,000
OSYHZ=II o 2L MHlA S22
350,000& 123 4,200
OFF XA UEHE It AHE =H=2
80& +50,000A 4,000
202 Odl 20,000 20,000 0
01 = LH YI 20,000 20,000 0
OS28=3X N 15,000
OZBg=xE dRF4 5,000
HY2HZH (S) 196,464 186,984 9,480
EIEH(REM)(=UHEAY SE3H) 196,464 186,984 9,480
olA2HY(FXEASE3IH) 196,464 186,984 9,480
101 1A dl 196,464 186,984 9,480
03 RIHAZZAE S 196,464 186,984 9,480
FEI 22 (4Y) 177,908
2= 2,048,500 x4H 123 98,328
d2=g 2,048,500 *4F 23| x50% 8,194
2+ I3 80,0003 »4H 123 3,840
& Mz AlH| 130,000 x4 H «12& 6,240
dEZ2RSY 100,000& x4H 123 4,800
NE-EEES=
12,1013 1. 5x4H «25A| 2t 128 21,782
s22f+E 96,808& *1.5x4% 25 14,522
HESIHI(E,F=4) 1,229,1008 x4H »23 9,833
Ot E &Y 96,8083 x4 x152 5,809
IIE=g(HRX2, 222, XtE5)
380,000& x12& 4,560
O4iEdg = 18,556
SUASREE S 177,908,000& x4 .5% 8,006
HLAEBEEES 177,908,000& *3.335% 5,934
LoEIIEERE 2 6,144 ,000& x8.51% 523
VEBERES 177,908,000 *1.5% 2,669
MTHEE 177,908,000& *0. 8% 1,424




